unidirectional pump - series XV

STANDARD EUROPEAN PUMP
©50.8 FLANGE - TAPER SHAFT

s [[X]3[p|78]02]A[B|B]A|
CIRe ,

| | [Series X | series XV

!: Group 3 | group 3

1 Category P unidirectional pump

| Displacement 78 | 38

@ | | Flange 02 | @50.8 right rotation

u iS_h_aﬂ A | CO001 - Tapered 1:8 - 822 - key thk.4
Q S IN | B inlet- @51 @27 M10

o | 5O TouT| B | outiet-@51 @27 M10

E Cover A | standard

P1) Max. working pressure - P3)

Max. peak pressure

Technical data table
TYPE Displacement Max. Pressure 5‘@ CODE O‘é
cm3frev P1bar | P3bar Left rotation Right rotation
XV-3P/15 14,89 300 320 X 3P6601AAA A|JX 3PB602AAA A
XV-3P/18 17.37 300 320 [X 3PEBOIAAA AIX 3PBBO2ZAAA A
XV-3Pi21 21,10 280 300 X 3PT7001AAA AIX 3P7002AAA A
XV-3P/27 26,97 250 270 X3PT7200AAA AIX3PT202ZAAA A
XV-3P/32 32,27 250 270 [ X 3P7401ABB A|JX 3P7402ABB A
XV-3P/38 38,47 250 270 X3P7801ABB AJX 3P7TB02ABB A
XV-3P/43 43,44 250 270 [X 3P7901ABB AIX 3P7902ABB A
XV-3P/47 4716 230 250 |X 3P8001ABB A|X 3PB8002ABB A
XV-3P/51 50,88 230 250 (X 3P8101ABBA|JX3P8102ABB A
XV-3P/54 54 60 230 250 X 3P8201ABB AJX 3P8202ABB A
XV-3P/61 60,81 230 250 |X 3P8301ACC AJX 3PB8302ACC A
XV-3P/64 64,53 210 230 (X 3P8501ACC A[X 3P8502ACC A
XV-3PI/T0 70,74 200 220 X 3P801IACC A|JX 3P8B0D2ACC A
XV-3PI74 74,46 180 200 X 3P8701ACC A|X 3P8702ACC A
XV-3P/90 86,87 150 170 | X 3P8Y0IACC AJX 3 PBIN2ACC A

For heavy-duty applications, it is recommended to check the admissible torque of the shafi

11,5
i "IE;__" . TA
of
= @ 22
o
M14x1.5
A

@ 50,8 f8 (Do)

Dimensions table
TYPE Weight A B D | E | °F D E F
kg | mm | mm | IN ouTt

XV-3P/15 | 7,010 | 1240 610 220 | 40 | M8 @20 40 M8
XV-3P/18 | 7,070 126,0 62,0 220 40 M8 220 40 M8
XV-3P/21 7,150 | 129.0| 635 | 220 @ 40 M8 220 40 M8
XV-3P/i27 | 7,250 1330 655 @20 @ 40 M8 220 40 M8
XV-3P/32 | 7,380 1380 680 @ @27 @ 51 M10 027 | 51 M10
XV-3P/38 | 7,520 1430| 705 @27 | 51 M10 227 51 M10
XV-3P/i43 | 7,630 147.0| 725 @ 27 | 51 M10 227 51 M10
XV-3P/47 | 7,710 150,0| 74,0 @ @27 | 51 M10 @27 51 M10
XV-3P/51 7,790 | 1530 755 | @27 | 51 M10 227 51 M10
XV-3P/54 = 7,870 | 156,0 77,0 @27 | 51 M10 227 51 M10
XV-3P/61 | 8010 1610 795 236 @ 62 M10 236 62 M10
XV-3P/64 | 8,090 | 1640 810 36 62 M10 @36 B2 M10
XV-3P/70 | 8,220 1690 835 @36 62 M10 236 62 M10
XV-3P/74 | 8,300 172,0| 850  ©36 62 M10 236 62 M10
XV-3P/90 | 8,570 182,0 90,0 @36 62 M10 236 62 M10

T.1 = 60+65 [Nm] - screw tightening torque M10

T.3 =75 [Nm] - torque wrench setting 22
T.2 = 482 [Nm] - admissible shaft torque (N.B. When choosing a shaft, always check the admissible torque).

200005 NIFTEDZABRAAF

Vivoil Oleodinamica Vivolo s.r.I. - Scle Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
www.vivoil.com - english

96

21/08/2006



unidirectional pump - series XV

STANDARD EUROPEAN PUMP
BOLOGNA - FTALY | 5508 FLANGE - TAPER SHAFT

‘ Reference | XP301 ‘

Example of ordering code:
X3P7802ABBA XV3P/38 - @50,8 /D - CO001 - @51 M10 - @51 M10 - .

| Basic list |
Pos Item description Item Size | Quantity
|1 | WHITE GALVANISED NUT M14x1.5 H=8 UNI 5589 540.0070.A |0 1]
| 2 | TABWASHER XV3 CO001 300.0023.A |0 1]
| 3 | KEY PROTECTION XV3 590.0030.A |0 1|
4 | 035 INTERNAL SNAP RING DIN 472 560.0025.A |0 1]

5 | OIL SEAL 25x35x6 TCV (BAB SL) 690.0090.A |0 1]

6 | WHITE GALVANISED SCREW TCCE M10x30 UNI 5931 8.8 521.0010.A | L030 16|

7 | SCHNORR WASHER @10x215.8 H=1 BLUED 550.0015.A |0 [ 16

8 | XV3250.8 FLANGE 300.0032.A [0 1

8 | BUECTIONWMOLDED SEAL sV GIBR 790/70) 300.0005C | 0 L 2

10 | Xv3 BACK-UP ELEMENT FOR BALANCING 300.0003.A |0 [ 2

| 11 | EXTERNAL BACK-UP ELEMENT XV3 | 300.0004.A [0 | 2|
| 12 | XV3 BUSH H=27 | 300.0009.A |0 _ 2]
|13 | PINo6x18 | 570.0044A [0 | 4
| 14 | STANDARD FLANGED BODY - cc=38 | 300.0044.A |H85 1]
| 15 | PLASTIC PLUG 228 | 580.0001.A |D28 2|
| 16 | COPO1 - PRIMARY GEAR 922 BEVEL 1+8 | 300.0016.A |cc38 1]
| 17 | WOODRUFF KEY 219x4 H=7,5 - XV3 | 300.0013.A |0 ' 1]
| 18 | COND2 - PERFORATED DRIVEN GEAR 300.0010.A [cc3g8 1]
| 19 | STANDARD XV3 COVER 300.0034.A |0 ' 1|

Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) ltaly tel: +39 051 803689 fax: +39 051 800061
www.vivoil.com - english 21/09/2006

97



